
3) TURN HEDG,NG SvSrEnt TA HUGE PROFTT SYSTEM ( V7 ==> V|_WIN )

+
t ta

wlN':
(trendingf.

0.G
3

Total Loss 0.d

tn"og,nYL"Nonl
.* . . . . . ' . . . . .

Fafrli%"_

@--4@i._
|lerrc}-4i4i

:
1. . ,

W|I--AJ!J:

>
ttata

ll
t
at ?

t

I
t
T
I

al
I
I
t
I
I. r -

I
I
I
I
I

- ; lr

I
I

-I
I

I
1a
a
I

I

I

r

Y

Levell 0.02
Level2 0.02
Level3 0.02
Level4 0.02
Level5 0.02
Level6 O.O2
LevelT 0.02
LevelS 0.02
Level9 A.A2
Levell0 0.02

190
180
170
160
150
140
130
120
110
100

3.80
3.60
3.40
3.20
3.00
2.80
2.60
2.40
2.20
2.OO

stoploss )=100

s

VI-WIN RULES #3 :

V1 stoploss >= 100
N stopLoss <= 30

IF:
hit stoploss
Vl Loss = 29.00**

1 retrace
V1 Loss = 0.16*"

lF: WIN hit stoploss
Win Loss = 0.60*

calculation
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